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Part A: Grammar and Vocabulary

Directions: Questions 76-85 are incomplete sentences. Beneath each sentence you will see four words or

phrases, marked (1), (2), (3), (4). Choose the one word or phrase that best completes the sentence. Then mark
your answer sheet.

76)- I asked him how ............... to remember so many telephone numbers.

1) he managed 2) do you manage

3) did he manage 4) was he managed

77)- I’m lightening the fire so that the house ............ be warm when they return.

1) will 2) would 3) could 4) might

78)- teeenennn I admit that there are some problems, I don’t agree that they can’t be solved.

1) Also 2) As 3) While 4) However

79)- A:” I know she was short of money.” B: “If you know she was short of money, you ............ her
some. Why didn’t you do that?”

1) should lend 2) must lend

3) must have lent 4) should have lent

()
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80)- He is alive. His heart is still ............. . We should take him to hospital immediately.

1) beating 2) lifting 3) moving 4) feeling

81)- The population is increasing at the ............. of less than 50 % a year.

1) case 2) rate 3) field 4) role

82)- After that terrible earthquake, international ............... help came from various countries.

1) scientific 2) voluntary 3) superior 4) specific

83)- More than a hundred people were Killed in the crash and only five passengers ............. .

1) ignored 2) damaged 3) survived 4) shocked

84)- Your methods all seem to follow the same ......... . There’s no variety in them.

1) level 2) attempt 3) surface 4) pattern

85)- The new English book is ............. the same as the old one, although a few words have been
added to its new edition.

1) immediately 2) basically 3) properly 4) constantly

Part B: Cloze Test
Directions: Questions 86-90 are related to the following passage. Read the passage and decide which choice (1),
(2), (3), (4) best fits each space. Then mark your answer sheet.

Well, | think we’d better do something to protect rain forests before they’re all gone. Rain forests only....
(86) ..... up just 2% of the Earth’s ..... (87) ..... ,but over half the world’s wild plants, animals, and insect
species live there. We ought to support organizations ..... (88) ...... in rain conversation, like the Rain Forest
Action Network in San Francisco.

The most thing to me is to save and ..... (89) ..... all the wild life in the world. Did you know that in near
future 20 % of all the Earth’s species could be lost forever? And we’d better not save only the mammals-
we ought to be ..... (90) ..... about the insects, amphibians, reptiles, and plants. | think the governments of

the world had better get together and do something.

86)- 1) consist 2) make 3) include 4) contain
87)- 1) level 2) region 3) climate 4) surface
88)- 1) involved 2) involving 3) to involve 4) involve
89)- 1) lock up 2) care for 3) rely on 4) look for
90)- 1) frightened 2) embarrassed 3) concerned 4) confident

Part C: Reading Comprehension
Directions: Read the following two passages and answer the questions by choosing the best choice (1),
(2), (3), (4). Then mark the correct choice on your answer sheet.

Reading Comprehension 1
Medicines Sans Frontiers (MSF), which means “Doctors without Borders,” was established in 1971. It is

now the world’s largest independent organization that provides emergency medical “relief”. The aim of
the organization is to help people who have suffered in wars or natural disasters such as earthquakes or
floods.

Each year, about 3000 people are sent abroad to work in over seventy different countries worldwide. MSF

relies on volunteer professionals but also works closely with local professionals. Volunteers are paid about

()¥)
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$800 a month and receive travel expenses. They usually work for nine months to a year on a project and
then go home, however, about 50% of volunteers go on more than one mission.

What qualities and skills do you need to become a volunteer? You have to be able to deal with stress, and
you need to be able to work independently as well as in a team. You are not required, however, to have
medical qualifications. Besides medical professionals, MSF needs the skilled support of technical teams
such as building engineers and food experts.

The reaction of volunteers returning from MSF speaks for itself. “One of our biggest projects was
organizing a team to open a new hospital in a town that had no medical care for three years”, one
volunteer said. This volunteer concluded that the project was a success for two reasons: the reduction of
death and the fact that the local people were so thankful. Another volunteer said, “With MSF, | have had
the chance to travel and test my skills to the limits both professionally and personally. The rewards can be
too much.”

91)- According to the passage which of the following sentences is not true?
1) MSF only helps people suffering in natural disasters.

2) Most volunteers work on more than one project.

3) MSF provides worldwide emergency medical relief.

4) Volunteers travel at the MSF’s expense.

92)- The underlined word “relief” in paragraph one is closest in meaning to .............. .

1) aids 2) missions 3) sign 4) conditions

93)- To volunteer for MSF you ............... .

1) should have medical qualifications 2) should work a year on a project

3) are not paid anything 4) are not required to be a medical professional
94)- It is understood from the last paragraph that .............. .

1) volunteers returning from MSF were pleased with their jobs

2) the new hospital had no medical care for three years

3) at last volunteers could not organize a team to open a new hospital

4) the reduction of deaths and the local people’s thanks were two rewards of their jobs
95)- According to the passage ............... .

1) volunteers are allowed to work alone in foreign countries

2) MSF is a small organization consisting of 300 technical teams

3) MSF is financially dependent on the governments and foreigners

4) there are more local people than foreigners working on most MSF projects

Reading Comprehension 2

Energy is very important in modern life. People use energy to run machines, heat and cool their homes,
cook, give light, and transport people and products from place to place. Most energy nowadays comes from
fossil fuels — petroleum, coal, and natural gas. However, burning fossil fuels causes pollution. Also, if we
don’t find new kinds of energy, we will finish all the fossil fuels in the twenty-first century. Scientists are
working to find other kinds of energy for the future. What might these sources of energy be?

Energy from the wind. All over the world, people use the power of the wind. It turns wind mills and moves
sailboats. It is a clean source of energy, and there is lots of it. Unfortunately, if the wind does not blow,
there is no wind energy.

Energy from water. When water moves from a high place to a lower place it makes energy. This energy is
used to create electricity. In Brittany, France, for example, waterpower produces enough energy to light a

(Y8)
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town of 40000 people. Waterpower gives energy without pollution. However, people have to build dams to
use this electricity. Dams cost a lot of money, so water energy is expensive.

Energy from the earth. There is heat in rocks under the earth. Scientists use this heat to make geothermal
energy. San Francisco gets half of the energy it needs from geothermal power. This kind of energy is cheap.
But it is possible only in a few places in the world.

Energy from the sun. Solar panel on the roofs of houses can turn energy from the sun into electricity.
These panels can create enough energy to heat an entire house. Solar power is clean and there is a lot of it
in sunny places. But when the weather is bad, there is no sunlight for energy.

96)- Wind energy is ........... .

1) a new source of energy 2) a source of pollution

3) available only when it blows 4) only used to turn wind mills

97)- What is the best title for this passage?

1) The wind and the sun Energy 2) Energy coming from fossil fuels

3) The future of energy 4) Energy is very important

98)- According to the passage which of the following sentences is not true?

1) Fossil fuels will run out in future. 2) Fossil fuels should be replaced by other kinds of energy.
3) Fossil fuels polluted the environment. 4) Fossil fuels will easily be available to everyone in future.
99)- It is understood from the passage that .............. .

1) geothermal energy is available to everyone
2) water energy is cheap enough for everyone to use
3) water can produce enough energy to create electricity
4) solar energy cannot change into electricity
100)- The passage tries to say that ............ .
1) there are limitations for us on how to use different kinds of energy
2) we don’t need to be concerned about energy because there are different kinds of it
3) although fossil fuels cause a lot of pollution, they are the cheapest kinds of energy to use
4) nowadays, using the energy from wind, water, the sun and the earth is common among people
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